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https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb


1. Find the path traced out by the point

 , here  the parameter and c is

aconstat

View Text Solution

(ct, )
c

t
t = 0

2. If  is a parameter,find the equation of the

locus of a moving point ,whose coordinates

are 

View Text Solution

θ

(a secθ, b tan θ)

https://dl.doubtnut.com/l/_jyUywcS1XfXz
https://dl.doubtnut.com/l/_sYuPb7o7byoA
https://dl.doubtnut.com/l/_3bEu5ssK09fe


3. A straight rod of the length 6 units, slides

with its ends A and B always on the x and y

axes respectively. If O is the origin, then find

the locus of the centroid of 

View Text Solution

ΔOAB

4. Show that points

 are

collinear.

View Text Solution

(0, − ), (1, − 1) and (2, − )
3

2

1

2

https://dl.doubtnut.com/l/_3bEu5ssK09fe
https://dl.doubtnut.com/l/_XsfQafBPbMNp


5. The Pamban Sea Bridge is a railway bridge of

length about 2065 m constructed on the

PalkStrait, which connects the Island town of

Rameswaram to Mandapam, the main land of

India. The Bridge is restricted to a uniform

speed of only 12.5 m/s. If a train of length 560

m starts at the entry point of the bridge from

Mandapam, then 

find an equation of the motion of the train.

View Text Solution

https://dl.doubtnut.com/l/_ncDFCZJOODoS
https://dl.doubtnut.com/l/_hAB5xAl005mW


6. The Pamban Sea Bridge is a railway bridge of

length about 2065 m constructed on the

PalkStrait, which connects the Island town of

Rameswaram to Mandapam, the main land of

India. The Bridge is restricted to a uniform

speed of only 12.5 m/s. If a train of length 560

m starts at the entry point of the bridge from

Mandapam, then 

when does the engine touch island

View Text Solution

https://dl.doubtnut.com/l/_hAB5xAl005mW


7. The Pamban Sea Bridge is a railway bridge of

length about 2065 m constructed on the

PalkStrait, which connects the Island town of

Rameswaram to Mandapam, the main land of

India. The Bridge is restricted to a uniform

speed of only 12.5 m/s. If a train of length 560

m starts at the entry point of the bridge from

Mandapam, then 

when does the last coach cross the entry point

of the bridge

View Text Solution

https://dl.doubtnut.com/l/_rLsrMDzXzngH


8. The Pamban Sea Bridge is a railway bridge of

length about 2065 m constructed on the

PalkStrait, which connects the Island town of

Rameswaram to Mandapam, the main land of

India. The Bridge is restricted to a uniform

speed of only 12.5 m/s. If a train of length 560

m starts at the entry point of the bridge from

Mandapam, then 

what is the time taken by a train to cross the

bridge.

View Text Solution

https://dl.doubtnut.com/l/_ERmHjVRdJlfi


9. Find the equations of the straight lines,

making the y- intercept of 7 and angle

between the line and the y-axis is 

View Text Solution

30∘

10. The seventh term of an arithmetic

progression is 30 and tenth term is 21. 

Find the first three terms of an A.P.

View Text Solution

https://dl.doubtnut.com/l/_85bmg7caJahr
https://dl.doubtnut.com/l/_NwlNvjAgFYYI
https://dl.doubtnut.com/l/_bdfrLwP2SK8X


11. The seventh term of an arithmetic

progression is 30 and tenth term is 21. 

Which term of the A.P. is zero (if exists)

View Text Solution

12. The quantity demanded of a certain type of

Compact Disk is 22,000 units when a unit price

is Rs 8. The customer will not buy the disk, at a

unit price of Rs 30 or higher. On the other side

the manufacturer will not market any disk if

the price is Rs 6 or lower. However, if the price

https://dl.doubtnut.com/l/_bdfrLwP2SK8X
https://dl.doubtnut.com/l/_WLZnXvlMWQpK


Rs 14 the manufacturer can supply 24,000

units. Assume that the quantity demanded

and quantity supplied are linearly

proportional to the price. Find ) the demand

equation

View Text Solution

13. The quantity demanded of a certain type of

Compact Disk is 22,000 units when a unit price

is Rs 8. The customer will not buy the disk, at a

unit price of Rs 30 or higher. On the other side

https://dl.doubtnut.com/l/_WLZnXvlMWQpK
https://dl.doubtnut.com/l/_tvpRdJJ3dDzr


the manufacturer will not market any disk if

the price is Rs 6 or lower. However, if the price

Rs 14 the manufacturer can supply 24,000

units. Assume that the quantity demanded

and quantity supplied are linearly

proportional to the price. Find supply

equation.

View Text Solution

14. The quantity demanded of a certain type of

Compact Disk is 22,000 units when a unit price

https://dl.doubtnut.com/l/_tvpRdJJ3dDzr
https://dl.doubtnut.com/l/_xqXlN1ZanI0n


is Rs 8. The customer will not buy the disk, at a

unit price of Rs 30 or higher. On the other side

the manufacturer will not market any disk if

the price is Rs 6 or lower. However, if the price

Rs 14 the manufacturer can supply 24,000

units. Assume that the quantity demanded

and quantity supplied are linearly

proportional to the price. Find the market

equilibrium quantity and price.

View Text Solution

https://dl.doubtnut.com/l/_xqXlN1ZanI0n


15. The quantity demanded of a certain type of

Compact Disk is 22,000 units when a unit price

is Rs 8. The customer will not buy the disk, at a

unit price of Rs 30 or higher. On the other side

the manufacturer will not market any disk if

the price is Rs 6 or lower. However, if the price

Rs 14 the manufacturer can supply 24,000

units. Assume that the quantity demanded

and quantity supplied are linearly

proportional to the price. Find The quantity of

demand and supply when the price is Rs 10

View Text Solution

https://dl.doubtnut.com/l/_IWAzXsRfo2aa


16. Find the equation of the straight line

passing through (− 1, 1) and cutting off equal

intercepts, but opposite in signs with the two

coordinate axes.

View Text Solution

17. A straight line L with negative slope passes

through the point (9, 4) cuts the positive

coordinate axes at the points P and Q. As L

https://dl.doubtnut.com/l/_IWAzXsRfo2aa
https://dl.doubtnut.com/l/_JJ8zafDVbhhj
https://dl.doubtnut.com/l/_Jv42JqPRWRqX


varies, find the minimum value of

, where O is the origin.

View Text Solution

|OP | + |OQ|

18. Area of the triangle formed by a line with

the coordinate axes, is 36 square units. Find

the equation of the line if the perpendicular

drawn from the origin to the line makes an

angle of  with positive the x-axis.

View Text Solution

45∘

https://dl.doubtnut.com/l/_Jv42JqPRWRqX
https://dl.doubtnut.com/l/_WrYOrWojSbua
https://dl.doubtnut.com/l/_LeTwRiAZhxti


19. Express the equation  in

the following equivalent form: 

Slope and Intercept form

View Text Solution

√3x − y + 4 = 0

20. Express the equation  in

the following equivalent form: 

Intercept form

View Text Solution

√3x − y + 4 = 0

https://dl.doubtnut.com/l/_LeTwRiAZhxti
https://dl.doubtnut.com/l/_67jfLUNzREmq
https://dl.doubtnut.com/l/_JPzxN4XmrpsU


21. Express the equation  in

the following equivalent form: 

Normal form

View Text Solution

√3x − y + 4 = 0

22. Rewrite  in to normal

form

View Text Solution

√3x + y + 4 = 0

https://dl.doubtnut.com/l/_JPzxN4XmrpsU
https://dl.doubtnut.com/l/_ShQotar5deKK


23. Find the equations of a parallel line and a

perpendicular line passing through the point

(1, 2) to the line 3x+ 4y = 7.

View Text Solution

24. Find the distance 

between two points (5, 4) and (2, 0)

View Text Solution

https://dl.doubtnut.com/l/_pE79DOICjoCG
https://dl.doubtnut.com/l/_ycpXxyd43h6g


25. Find the distance 

from a point (1, 2) to the line 5x + 12y − 3=0

View Text Solution

26. Find the distance 

between two parallel lines 3x + 4y = 12 and 6x

+ 8y +1=0.

View Text Solution

https://dl.doubtnut.com/l/_CtxvnhfeOf68
https://dl.doubtnut.com/l/_EvMRtxBOnHgH


27. A car rental firm has charges Rs 25 with 1.8

free kilometers, and Rs 12 for every additional

kilometer. Find the equation relating the cost

y to the number of kilometers x. Also find the

cost to travel 15 kilometers

View Text Solution

28. Show that the straight lines

 form an

equilateral triangle.

x2 − 4xy + y2 = 0 and x + y = 3

https://dl.doubtnut.com/l/_AidF6CwWkpzH
https://dl.doubtnut.com/l/_nnUpI8PdFAIs


View Text Solution

29. If the pair of lines represented by

be such that each pair bisects the angle

between the other pair, prove that cd = −1.

View Text Solution

x2 − 2cxy − y2 = 0 and x2 − 2dxy − y2 = 0

30. If the equation

λx2 − 10xy + 12y2 + 5x − 16y − 3 = 0

https://dl.doubtnut.com/l/_nnUpI8PdFAIs
https://dl.doubtnut.com/l/_x8Dx4RtGfchu
https://dl.doubtnut.com/l/_8HejffgB7dNE


represents a pair of straight lines, find angle

between the lines

View Text Solution

31. A student when walks from his house, at an

average speed of 6 kmph, reaches his school

ten minutes before the school starts. When

his average speed is 4 kmph, he reaches his

school five minutes late. If he starts to school

every day at 8.00 A.M, then find the distance

between his house and the school

https://dl.doubtnut.com/l/_8HejffgB7dNE
https://dl.doubtnut.com/l/_H6tTcDLHsm03


View Text Solution

32. A student when walks from his house, at an

average speed of 6 kmph, reaches his school

ten minutes before the school starts. When

his average speed is 4 kmph, he reaches his

school five minutes late. If he starts to school

every day at 8.00 A.M, then find the minimum

average speed to reach the school on time

and time taken to reach the school the time

the school gate closes

View Text Solution

https://dl.doubtnut.com/l/_H6tTcDLHsm03
https://dl.doubtnut.com/l/_EB2V3HgPS7LV


Exercise 6 1

33. A student when walks from his house, at an

average speed of 6 kmph, reaches his school

ten minutes before the school starts. When

his average speed is 4 kmph, he reaches his

school five minutes late. If he starts to school

every day at 8.00 A.M, then find the time the

school gate closes

View Text Solution

https://dl.doubtnut.com/l/_EB2V3HgPS7LV
https://dl.doubtnut.com/l/_IUCB46UzPtSs


1. Find the locus of P, if for all values of α, the

co-ordinates of a moving point P is

View Text Solution

(9 cosα, 9 sinα)

2. Find the locus of P, if for all values of α, the

co-ordinates of a moving point P is

View Text Solution

9 cosα, 6 sinα)

https://dl.doubtnut.com/l/_lwR9AWmV6VXD
https://dl.doubtnut.com/l/_TKqJpZV6U7Y9
https://dl.doubtnut.com/l/_wJLMeGIYux9a


3. Find the locus of a point P that moves at a

constant distant of two units from the x-axis

View Text Solution

4. Find the locus of a point P that moves at a

constant distant of three units from the y-axis.

View Text Solution

https://dl.doubtnut.com/l/_wJLMeGIYux9a
https://dl.doubtnut.com/l/_Zze6X7bumQ43


5. If  is a parameter, find the equation of the

locus of a moving point, whose coordinates

are x=a cos^(3) theta,y= a sin^(3) theta`.

View Text Solution

θ

6. Find the value of k and b, if the points P(−3,

1) and Q(2,b) lie on the locus of

.

View Text Solution

x2 − 5x + ky = 0

https://dl.doubtnut.com/l/_MBUPe4cqrNSw
https://dl.doubtnut.com/l/_aHdDwT57YNue
https://dl.doubtnut.com/l/_TGlI5OuFWviH


7. A straight rod of length 8 units slides with

its ends A and B always on the x and y axes

respectively. Find the locus of the mid point of

the line segment AB

View Text Solution

8. Find the equation of the locus of a point

such that the sum of the squares of the

distance from the points (3, 5), (1, −1) is equal

to 20

View Text Solution

https://dl.doubtnut.com/l/_TGlI5OuFWviH
https://dl.doubtnut.com/l/_hn38CnTxbK9C


9. Find the equation of the locus of the point P

such that the line segment AB, joining the

points A(1, −6) and B(4, −2), subtends a right

angle at P

View Text Solution

10. If O is origin and R is a variable point on

 then find the equation of the locus

of the mid-point of the line segment OR.

y2 = 4x,

https://dl.doubtnut.com/l/_hn38CnTxbK9C
https://dl.doubtnut.com/l/_f9oLReykj1Y7
https://dl.doubtnut.com/l/_gbsy7AOqlS1d


View Text Solution

11. If P(2, −7) is a given point and Q is a point

on  then find the equations of

the locus of the mid-point of P Q.

View Text Solution

2x2 + 9y2 = 18

12. If R is any point on the x-axis and Q is any

point on the y-axis and P is a variable point on

RQ with RP = b, PQ = a. then find the equation

of locus of P

https://dl.doubtnut.com/l/_gbsy7AOqlS1d
https://dl.doubtnut.com/l/_x7dIuzpNOhnt
https://dl.doubtnut.com/l/_hBpt1ISHZXuu


View Text Solution

13. . If the points P(6, 2) and Q(−2, 1) and R are

the vertices of a  and R is the point on

the locus  , then find the

equation of the locus of centroid of 

View Text Solution

ΔPQR

y = x2 − 3x + 4

ΔPQR

14. . If Q is a point on the locus of

 then find thex2 + y2 + 4x − 3y + 7 = 0,

https://dl.doubtnut.com/l/_hBpt1ISHZXuu
https://dl.doubtnut.com/l/_6JSA91DrINmS
https://dl.doubtnut.com/l/_iAOyEdbj4E5s


equation of locus of P which divides segment

OQ externally in the ratio 3:4,where O is origin.

View Text Solution

15. Find the points on the locus of points that

are 3 units from x-axis and 5 units from the

point (5, 1).

View Text Solution

https://dl.doubtnut.com/l/_iAOyEdbj4E5s
https://dl.doubtnut.com/l/_v8EjWd6tLLWb


Exercise 6 2

16. The sum of the distance of a moving point

from the points (4, 0) and (−4, 0) is always 10

units. Find the equation of the locus of the

moving point.

View Text Solution

1. Find the equation of the lines passing

through the point (1,1) 

https://dl.doubtnut.com/l/_ZNJvXtIQ4XNO
https://dl.doubtnut.com/l/_WpfToLs2dkO8


with y-intercept (−4)

View Text Solution

2. Find the equation of the lines passing

through the point (1,1) 

with slope 3

View Text Solution

3. Find the equation of the lines passing

through the point (1,1) 

https://dl.doubtnut.com/l/_WpfToLs2dkO8
https://dl.doubtnut.com/l/_ljolCpkEyXCN
https://dl.doubtnut.com/l/_Q4qwE49pgdL9


and (-2,3)

View Text Solution

4. Find the equation of the lines passing

through the point (1,1) 

and the perpendicular from the origin makes

an angle  with x- axis.

View Text Solution

60∘

https://dl.doubtnut.com/l/_Q4qwE49pgdL9
https://dl.doubtnut.com/l/_0B05ffSGrf9K


5. Find the equation of the line passing

through the point (1, 5) and also divides the

co-ordinate axes in the ratio 3:10.

View Text Solution

6. The normal boiling point of water is 

or  and the freezing point of water is 

 


Find the linear relationship between C and F

Find

100∘C

212∘F

0∘C or 32∘F

https://dl.doubtnut.com/l/_weO7WZ0guPDJ
https://dl.doubtnut.com/l/_mqyKG4ulhj7T


View Text Solution

7. The normal boiling point of water is 

or  and the freezing point of water is 

 


the value of C for  and

View Text Solution

100∘C

212∘F

0∘C or 32∘F

98.6∘F

8. The normal boiling point of water is 

or  and the freezing point of water is 

100∘C

212∘F

https://dl.doubtnut.com/l/_mqyKG4ulhj7T
https://dl.doubtnut.com/l/_tE2JZt2l0NpI
https://dl.doubtnut.com/l/_4fP75Sr1Sac8


 


the value of F for 

View Text Solution

0∘C or 32∘F

38∘C

9. An object was launched from a place P in

constant speed to hit a target. At the 15th

second it was 1400 m away from the target

and at the 18th second 800m away. Find 

the distance between the place and the target

View Text Solution

https://dl.doubtnut.com/l/_4fP75Sr1Sac8
https://dl.doubtnut.com/l/_fQHNkjMoGPVD
https://dl.doubtnut.com/l/_z8sHASBuCHSx


10. An object was launched from a place P in

constant speed to hit a target. At the 15th

second it was 1400 m away from the target

and at the 18th second 800m away. Find 

the distance covered by it in 15 seconds.

View Text Solution

11. An object was launched from a place P in

constant speed to hit a target. At the 15th

second it was 1400 m away from the target

https://dl.doubtnut.com/l/_z8sHASBuCHSx
https://dl.doubtnut.com/l/_ncMK74SQ4E5K


and at the 18th second 800m away. Find 

time taken to hit the target.

View Text Solution

12. Population of a city in the years 2005 and

2010 are 1,35,000 and 1,45,000 respectively.

Find the approximate population in the year

2015. (assuming that the growth of population

is constant)

View Text Solution

https://dl.doubtnut.com/l/_ncMK74SQ4E5K
https://dl.doubtnut.com/l/_yHee6foGhX8J
https://dl.doubtnut.com/l/_QfHJsQURsdW8


13. Find the equation of the line, if the

perpendicular drawn from the origin makes an

angle  with x-axis and its length is 12.

View Text Solution

30∘

14. Find the equation of the straight lines

passing through (8, 3) and having intercepts

whose sum is 1

View Text Solution

https://dl.doubtnut.com/l/_QfHJsQURsdW8
https://dl.doubtnut.com/l/_K8vRFbfCC5mx
https://dl.doubtnut.com/l/_7MjapZf6f4sT


15. A straight line is passing through the point

A(1, 2) with slope  Find points on the line

which are 13 units away from A.

View Text Solution

5

12

16. A 150 m long train is moving with constant

velocity of 12.5 m/s. Find the equation of the

motion of the train,

View Text Solution

https://dl.doubtnut.com/l/_7MjapZf6f4sT
https://dl.doubtnut.com/l/_aYqID8nXkmmr


17. A 150 m long train is moving with constant

velocity of 12.5 m/s. Find time taken to cross a

pole.

View Text Solution

18. A 150 m long train is moving with constant

velocity of 12.5 m/s. Find The time taken to

cross the bridge of length 850 m is?

View Text Solution

https://dl.doubtnut.com/l/_BRXSUWYoR7Ga
https://dl.doubtnut.com/l/_687UgsLbuEId
https://dl.doubtnut.com/l/_GKLD7PTCgGPu


19. A spring was hung from a hook in the

ceiling. A number of different weights were

attached to the spring to make it stretch, and

the total length of the spring was measured

each time shown in the following table. 

 


Find the equation relating the length of the

spring to the weight on it.

View Text Solution

https://dl.doubtnut.com/l/_GKLD7PTCgGPu


20. A spring was hung from a hook in the

ceiling. A number of different weights were

attached to the spring to make it stretch, and

the total length of the spring was measured

each time shown in the following table. 

 


What is the actual length of the spring.

View Text Solution

https://dl.doubtnut.com/l/_IpAzCh4s7Hse


21. A spring was hung from a hook in the

ceiling. A number of different weights were

attached to the spring to make it stretch, and

the total length of the spring was measured

each time shown in the following table. 

 


If the spring has to stretch to 9 cm long, how

much weight should be added?

View Text Solution

https://dl.doubtnut.com/l/_OReKlVOubkKG
https://dl.doubtnut.com/l/_5u3wOToIQdmd


22. A spring was hung from a hook in the

ceiling. A number of different weights were

attached to the spring to make it stretch, and

the total length of the spring was measured

each time shown in the following table. 

 


How long will the spring be when 6 kilograms

of weight on it?

View Text Solution

https://dl.doubtnut.com/l/_5u3wOToIQdmd
https://dl.doubtnut.com/l/_NNq39TwCainl


23. A family is using Liquefied petroleum gas

(LPG) of weight 14.2 kg for consumption. (Full

weight 29.5kg includes the empty cylinders

tare weight of 15.3kg.). If it is use with constant

rate then it lasts for 24 days. Then the new

cylinder is replaced Find the equation relating

the quantity of gas in the cylinder to the days.

View Text Solution

24. A family is using Liquefied petroleum gas

(LPG) of weight 14.2 kg for consumption. (Full

https://dl.doubtnut.com/l/_NNq39TwCainl
https://dl.doubtnut.com/l/_YYpdTTZv2w6K


weight 29.5kg includes the empty cylinders

tare weight of 15.3kg.). If it is use with constant

rate then it lasts for 24 days. Then the new

cylinder is replaced Draw the graph for first 96

days.

View Text Solution

25. In a shopping mall there is a hall of cuboid

shape with dimension 

units, which needs to be added the facility of

an escalator in the path as shown by the

800x × 800x × 720

https://dl.doubtnut.com/l/_YYpdTTZv2w6K
https://dl.doubtnut.com/l/_cnL3lL39arUj


dotted line in the figure. Find the minimum

total length of the escalator. 

View Text Solution

https://dl.doubtnut.com/l/_cnL3lL39arUj


26. In a shopping mall there is a hall of cuboid

shape with dimension 

units, which needs to be added the facility of

an escalator in the path as shown by the

dotted line in the figure. Find the heights at

which the escalator changes its direction 

Vi T t S l ti

800x × 800x × 720

https://dl.doubtnut.com/l/_jua0sbNDLIdG


View Text Solution

27. In a shopping mall there is a hall of cuboid

shape with dimension 

units, which needs to be added the facility of

an escalator in the path as shown by the

dotted line in the figure. Find the slopes of the

800x × 800x × 720

https://dl.doubtnut.com/l/_jua0sbNDLIdG
https://dl.doubtnut.com/l/_5BWFHsCoKr2U


Exercise 6 3

escalator at the turning points. 

View Text Solution

https://dl.doubtnut.com/l/_5BWFHsCoKr2U


1. Find the equation of the straight line

parallel to 5x − 4y +3=0 and having x-intercept

3.

View Text Solution

2. Find the distance between the line 4x + 3y

+4=0, and a point (-2,4)

View Text Solution

https://dl.doubtnut.com/l/_WGJn0rJWscSf
https://dl.doubtnut.com/l/_FTjJrpoYONMP


3. Find the distance between the line 4x + 3y

+4=0, and a point (7,-3)

View Text Solution

4. Write the equation of the lines through the

point (1, −1) 

parallel to x + 3y − 4=0

View Text Solution

https://dl.doubtnut.com/l/_PRiBxPXBF75v
https://dl.doubtnut.com/l/_aSdtsnaSEVcp


5. Write the equation of the lines through the

point (1, −1) 

perpendicular to 3x + 4y = 6

View Text Solution

6. If (−4, 7) is one vertex of a rhombus and if

the equation of one diagonal is 5x − y +7=0,

then find the equation of another diagonal.

View Text Solution

https://dl.doubtnut.com/l/_MXKAzLYVOjtk
https://dl.doubtnut.com/l/_BJTs59NgD798
https://dl.doubtnut.com/l/_Sj2K9pNtjXqp


7. Find the equation of the lines passing

through the point of intersection lines 4x − y

+3=0 and 5x + 2y +7=0, and through the point

(−1, 2)

View Text Solution

8. Find the equation of the lines passing

through the point of intersection lines 4x − y

+3=0 and 5x + 2y +7=0, and Parallel to x − y

+5=0

View Text Solution

https://dl.doubtnut.com/l/_Sj2K9pNtjXqp
https://dl.doubtnut.com/l/_5rrdPPP3Wczf


9. Find the equation of the lines passing

through the point of intersection lines 4x − y

+3=0 and 5x + 2y +7=0, and Perpendicular to x

− 2y + 1=0

View Text Solution

10. Find the equations of two straight lines

which are parallel to the line 12x + 5y +2=0 and

at a unit distance from the point (1, − 1).

https://dl.doubtnut.com/l/_5rrdPPP3Wczf
https://dl.doubtnut.com/l/_IJgIZGmircHm
https://dl.doubtnut.com/l/_cKI27KhMBwjx


View Text Solution

11. Find the equations of straight lines which

are perpendicular to the line 3x + 4y − 6=0 and

are at a distance of 4 units from (2, 1).

View Text Solution

12. . Find the equation of a straight line

parallel to 2x + 3y = 10 and which is such that

the sum of its intercepts on the axes is 15.

View Text Solution

https://dl.doubtnut.com/l/_cKI27KhMBwjx
https://dl.doubtnut.com/l/_w4Gk5BZIIUNc
https://dl.doubtnut.com/l/_27FgkORIPhJi


13. Find the length of the perpendicular and

the co-ordinates of the foot of the

perpendicular from (−10, −2) to the line x + y −

2=0.

View Text Solution

14. Find the distance between the parallel lines

View Text Solution

12x + 5y = 7 and 12x + 5y + 7 = 0

https://dl.doubtnut.com/l/_27FgkORIPhJi
https://dl.doubtnut.com/l/_brEVsINBdnOo
https://dl.doubtnut.com/l/_kJVfp3Q69SmR


15. Find the distance between the parallel lines

View Text Solution

3x − 4y + 5 = 0 and 6x − 8y − 15 = 0.

16. Find the family of straight lines

Perpendicular

View Text Solution

https://dl.doubtnut.com/l/_kJVfp3Q69SmR
https://dl.doubtnut.com/l/_qIS0MmnOVmeT
https://dl.doubtnut.com/l/_cjcDE17ll8hP


17. Find the family of straight lines Parallel to

3x + 4y − 12 = 0.

View Text Solution

18. If the line joining two points A(2,0) and

B(3,1) is rotated about A in anticlockwise

direction through an angle of 15o, then find

the equation of the line in new position.

View Text Solution

https://dl.doubtnut.com/l/_sLFqvMLjK3Ps
https://dl.doubtnut.com/l/_NO5lrJ1tWwm0
https://dl.doubtnut.com/l/_Hf42u1Bhe1G0


19. A ray of light coming from the point (1,2) is

reflected at a point A on the x-axis and it

passes through the point (5,3). Find the co-

ordinates of the point A

View Text Solution

20. A line is drawn perpendicular to 5x = y + 7.

Find the equation of the line if the area of the

triangle formed by this line with co-ordinate

axes is 10 sq. units.

View Text Solution

https://dl.doubtnut.com/l/_Hf42u1Bhe1G0
https://dl.doubtnut.com/l/_39m45o8jXXlJ


21. Find the image of the point (−2, 3) about

the line x + 2y − 9=0

View Text Solution

22. A photocopy store charges Rs 1.50 per copy

for the first 10 copies and Rs 1.00 per copy

after the 10th copy. Let x be the number of

copies, and let y be the total cost of

https://dl.doubtnut.com/l/_39m45o8jXXlJ
https://dl.doubtnut.com/l/_Ja2hXEYe6FFu
https://dl.doubtnut.com/l/_UbBIj90AxnCW


photocopying. Draw graph of the cost as x

goes from 0 to 50 copies.

View Text Solution

23. A photocopy store charges Rs 1.50 per copy

for the first 10 copies and Rs 1.00 per copy

after the 10th copy. Let x be the number of

copies, and let y be the total cost of

photocopying. Find the cost of making 40

copies

View Text Solution

https://dl.doubtnut.com/l/_UbBIj90AxnCW
https://dl.doubtnut.com/l/_qTqr4KJiYPVX


24. Find atleast two equations of the straight

lines in the family of the lines y = 5x + b, for

which b and the x-coordinate of the point of

intersection of the lines with 3x − 4y = 6 are

integers

View Text Solution

25. Find all the equations of the straight lines

in the family of the lines y = mx − 3, for which

m and the x-coordinate of the point of

https://dl.doubtnut.com/l/_qTqr4KJiYPVX
https://dl.doubtnut.com/l/_dRnT9NU1KFKX
https://dl.doubtnut.com/l/_hR3ZMF6rOUkM


Exercise 6 4

intersection of the lines with x − y = 6 are

integers.

View Text Solution

1. Find the combined equation of the straight

lines whose separate equations are x − 2y −

3=0 and x + y +5=0.

View Text Solution

https://dl.doubtnut.com/l/_hR3ZMF6rOUkM
https://dl.doubtnut.com/l/_dAAz6LrwosOM
https://dl.doubtnut.com/l/_vSKBlvgahYgz


2. Find the equation of the pair of straight

lines passing through the point (1, 3) and

perpendicular to the lines 2x − 3y +1=0 and 5x

+ y − 3=0

View Text Solution

3. Find the separate equation of the following

pair of straight lines 

View Text Solution

3x2 + 2xy − y2 = 0

https://dl.doubtnut.com/l/_vSKBlvgahYgz
https://dl.doubtnut.com/l/_EWTgHD4bDRzR


4. Find the separate equation of the following

pair of straight lines 

View Text Solution

6(x − 1)2 + 5(x − 1)(y − 2) − 4(y − 2)2 = 0

5. Find the separate equation of the following

pair of straight lines 

View Text Solution

2x2 − xy − 3y2 − 6x + 19y − 20 = 0

https://dl.doubtnut.com/l/_EWTgHD4bDRzR
https://dl.doubtnut.com/l/_7TwAdHSFjBxp
https://dl.doubtnut.com/l/_2JDDr3QPhRiE


6. A  is formed by the pair of straight

lines  and the line P Q. The

equation of P Q is x + y − 2=0. Find the

equation of the median of the triangle 

drawn from the origin O.

View Text Solution

ΔOPQ

x2 + 4xy + y2 = 0

ΔOPQ

7. Find p and q, if the following equation

represents a pair of perpendicular lines 

6x2 + 5xy − py2 + 7x + qy − 5 = 0

https://dl.doubtnut.com/l/_Vsivd3UCZXKv
https://dl.doubtnut.com/l/_cDTYiWTB7UtF


View Text Solution

8. Find the value of k, if the following equation

represents a pair of straight lines. Further, find

whether these lines are parallel or

intersecting, 

View Text Solution

12x2 + 7xy − 12y2 − x + 7y + k = 0

9. For what value of k does the equation

12x2 + 2kxy + 2y2 + 11x − 5y + 2 = 0

https://dl.doubtnut.com/l/_cDTYiWTB7UtF
https://dl.doubtnut.com/l/_PxCymQLickqq
https://dl.doubtnut.com/l/_BXAumY33Akgl


represent two straight lines.

View Text Solution

10. Show that the equation

 0

represents a pair of parallel lines. Find the

distance between them.

View Text Solution

9x2 − 24xy + 16y2 − 12x + 16y − 12 = 0

https://dl.doubtnut.com/l/_BXAumY33Akgl
https://dl.doubtnut.com/l/_ohGotawakUs1


Exercise 6 5 Choose The Correct Or More

Suitable Answer

11. Show that the equation

represents a pair of parallel lines. Find the

distance between them.

View Text Solution

4x2 + 4xy + y2 − 6x − 3y − 4 = 0

1. The equation of the locus of the point

whose distance from y-axis is half the distance

https://dl.doubtnut.com/l/_jawGx92f1XSf
https://dl.doubtnut.com/l/_kNWaGLGpEQ04


from origin is

A. 

B. 

C. 

D. 

Answer: D

View Text Solution

x2 + 3y2 = 0

x2 − 3y2 = 0

3x2 + y2 = 0

3x2 − y2 = 0

https://dl.doubtnut.com/l/_kNWaGLGpEQ04


2. Which of the following equation is the locus

of 

A. 

B. 

C. 

D. 

Answer: D

View Text Solution

(at2, 2at)

− = 1
x2

a2

y2

b2

+ = 1
x2

a2

y2

b2

x2 + y2 = a2

y2 = 4ax

https://dl.doubtnut.com/l/_OTMYuZdEcG89
https://dl.doubtnut.com/l/_QmJVp65A4jfI


3. Which of the following point lie on the locus

of 

A. (0, 0)

B. (−2, 3)

C. (1, 2)

D. (0, −1)

Answer: C

View Text Solution

3x2 + 3y2 − 8x − 12y + 17 = 0

https://dl.doubtnut.com/l/_QmJVp65A4jfI


4. If the point (8,−5) lies on the locus

 then the value of k is

A. 0

B. 1

C. 2

D. 3

Answer: D

View Text Solution

= = k
x2

16

y2

25

https://dl.doubtnut.com/l/_y3JF4S5m8Jae
https://dl.doubtnut.com/l/_RH9C7sUh0vlv


5. Straight line joining the points (2, 3) and (−1,

4) passes through the point  if

A. 

B. 

C. 

D. 

Answer: C

View Text Solution

(α, β)

α + 2β = 7

3α + β = 9

α + 3β = 11

3α + β = 11

https://dl.doubtnut.com/l/_RH9C7sUh0vlv


6. The slope of the line which makes an angle

 with the line 3x-y=-5 are

A. 1,-1

B. 

C. 

D. 

Answer: B

View Text Solution

45∘

− 2
1

2

1,
1

2

2, −
1

2

https://dl.doubtnut.com/l/_6AYiHefaYxvT
https://dl.doubtnut.com/l/_VFAQoP0rbjt2


7. Equation of the straight line that forms an

isosceles triangle with coordinate axes in the I-

quadrant with perimeter  is

A. x + y +2=0

B. x + y − 2=0

C. 

D. 

Answer: B

View Text Solution

4 + 2√2

x + y − √2 = 0

x + y + √2 = 0

https://dl.doubtnut.com/l/_VFAQoP0rbjt2
https://dl.doubtnut.com/l/_evdZov7rnXZV


8. The coordinates of the four vertices of a

quadrilateral are (−2,4), (−1,2), (1,2) and (2,4)

taken in order.The equation of the line passing

through the vertex (−1,2) and dividing the

quadrilateral in the equal areas is

A. x+ 1 = 0

B. x + y = 1

C. x + y +3=0

D. x − y +3=0

Answer: D

https://dl.doubtnut.com/l/_evdZov7rnXZV


View Text Solution

9. The intercepts of the perpendicular bisector

of the line segment joining (1, 2) and (3,4) with

coordinate axes are

A. 5,-5

B. 5,5

C. 5,3

D. 5,-4

Answer: B

https://dl.doubtnut.com/l/_evdZov7rnXZV
https://dl.doubtnut.com/l/_23mvc9f49m1N


View Text Solution

10. The equation of the line with slope 2 and

the length of the perpendicular from the

origin equal to  is

A. 

B. 

C. 

D. 

Answer: C

√5

x + 2y = √5

2x + y = √5

2x + y = 5

x + 2y − 5 = 0

https://dl.doubtnut.com/l/_23mvc9f49m1N
https://dl.doubtnut.com/l/_nu9oYpUAN7hI


View Text Solution

11. A line perpendicular to the line 5x − y = 0

forms a triangle with the coordinate axes. If

the area of the triangle is 5 sq. units, then its

equation is

A. 

B. 

C. 

D. 

x + 5y ± 5√2 = 0

x − 5y ± 5√2 = 0

5x + y ± 5√2 = 0

5x − y ± 5√2 = 0

https://dl.doubtnut.com/l/_nu9oYpUAN7hI
https://dl.doubtnut.com/l/_1IMJwHNpUokK


Answer: A

View Text Solution

12. Equation of the straight line perpendicular

to the linex−y+5 = 0, through the point of

intersection the y-axis and the given line

A. x − y − 5=0

B. x + y − 5=0

C. x + y +5=0

D. x + y + 10 = 0

https://dl.doubtnut.com/l/_1IMJwHNpUokK
https://dl.doubtnut.com/l/_Op2wux34MO7R


Answer: B

View Text Solution

13. If the equation of the base opposite to the

vertex (2, 3) of an equilateral triangle is x + y =

2, then the length of a side is

A. 

B. 6

C. 

D. 

√
3

2

√6

3√2

https://dl.doubtnut.com/l/_Op2wux34MO7R
https://dl.doubtnut.com/l/_IjAwHXBf4OPs


Answer: C

View Text Solution

14. The line (p + 2q)x + (p − 3q)y = p − q for

different values of p and q passes through the

point

A. 

B. 

C. 

D. 

((3), )
5

2

( , )
2

5

2

5

( , )
3

5

3

5

( , )
2

5

3

5

https://dl.doubtnut.com/l/_IjAwHXBf4OPs
https://dl.doubtnut.com/l/_18uPfSxznQum


Answer: D

View Text Solution

15. The point on the line 2x − 3y = 5 is

equidistance from (1,2) and (3, 4) is

A. (7,3)

B. (4,1)

C. (1,-1)

D. (-2,3)

https://dl.doubtnut.com/l/_18uPfSxznQum
https://dl.doubtnut.com/l/_O2VzTDFSoXR4


Answer: B

View Text Solution

16. The image of the point (2, 3) in the line y =

−x is

A. (−3, −2)

B. ( −3, 2 )

C. ( −2, −3)

D. ( 3, 2 )

https://dl.doubtnut.com/l/_O2VzTDFSoXR4
https://dl.doubtnut.com/l/_NFCbjEjA4rre


Answer: A

View Text Solution

17. The length of  from the origin to the

line  is

A. 

B. 

C. 

D. 

⊥

− = 1
x

3

y

4

11

5

5

12

12

5

−
5

12

https://dl.doubtnut.com/l/_NFCbjEjA4rre
https://dl.doubtnut.com/l/_76GdYS27IhfA


Answer: C

View Text Solution

18. The y-intercept of the straight line passing

through (1,3) and perpendicular to 2x − 3y +1=0

is

A. 

B. 

C. 

D. 

3

2

9

2

2

3

2

3

https://dl.doubtnut.com/l/_76GdYS27IhfA
https://dl.doubtnut.com/l/_yOMGsXOBEPWC


Answer: B

View Text Solution

19. If the two straight lines x + (2k − 7)y +3=0

and 3kx + 9y − 5=0 are perpendicular then the

value of k is

A. k=3

B. 

C. 

D. 

k =
1

3

k =
2

3

k =
3

2

https://dl.doubtnut.com/l/_yOMGsXOBEPWC
https://dl.doubtnut.com/l/_4xMKfSdtpHZL


Answer: A

View Text Solution

20. If a vertex of a square is at the origin and

its one side lies along the line 4x + 3y − 20 = 0,

then the area of the square is

A. 20 sq. units

B. 16 sq. units

C. 25 sq. units

D. 4 sq. units

https://dl.doubtnut.com/l/_4xMKfSdtpHZL
https://dl.doubtnut.com/l/_m8CRcZeTNMiA


Answer: B

View Text Solution

21. If the lines represented by the equation

 make angles 

with x- axis, then 

A. 

B. 

C. 

D. 

6x2 + 41xy − 7y2 = 0 α and β

tanα tanβ =

−
6

7

6

7

−
7
6

7
6

https://dl.doubtnut.com/l/_m8CRcZeTNMiA
https://dl.doubtnut.com/l/_olQ1ZlltanvV


Answer: A

View Text Solution

22. The area of the triangle formed by the lines

 is

A. 

B. 

C. 

D. 

x2 − 4y2 = 0 and x = − a

2a2

a2√3

2

a21

2

a22

√3

https://dl.doubtnut.com/l/_olQ1ZlltanvV
https://dl.doubtnut.com/l/_WJizFQD3JABo


Answer: C

View Text Solution

23. If one of the lines given by

 is 3x+4y=0 then c equals

to

A. 

B. 

C. 3

D. 1

6x2 − xy + 4cy2 = 0

−3

−1

https://dl.doubtnut.com/l/_WJizFQD3JABo
https://dl.doubtnut.com/l/_h074pRFFmg6w


Answer: A

View Text Solution

24.  is acute angle between the lines

 then  is

A. 1

B. 

C. 

D. 

θ

x2 − xy − 6y = 0
2 cos θ3 + sin θ

4 sin θ + 5 cos θ

−
1

9

5

9

1

9

https://dl.doubtnut.com/l/_h074pRFFmg6w
https://dl.doubtnut.com/l/_h8sUTLIfaIlX


Answer: C

View Text Solution

25. The equation of one the line represented

by the equation  is

A. 

B. 

C. 

D. 

x2 + 2xy cot θ − y2 = 0

x − y cot θ = 0

x + y tan θ = 0

x cos θ + y(sin θ + 1) = 0

x sin θ + y(cos θ + 1) = 0

https://dl.doubtnut.com/l/_h8sUTLIfaIlX
https://dl.doubtnut.com/l/_okPTGiEVP1J7


Answer: D

View Text Solution

https://dl.doubtnut.com/l/_okPTGiEVP1J7

